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1. |2+ 170,8 1| publiczny | 40 [ 8,0 12 35
2. |2+ 180,2 indywid. 10,0 14
3. |2+ 184,2 1| indywid. | 30 [ 5,0 5 9,75 5
4. |2+ 2083 1| indywid. | 40 [ 6,0 1,0 5 9,75 5
5. |2+ 2133 1| indywid. | 40 [ 6,0 1,0 5 9,75 5
6. |2+ 2295 1| publiczny | 60 [ 6,0 4,0 15 12 35
256,9 5 14,00 5
7. |2+ 256,9 1| indywid. | 40 [ 9,0 2,0 5 14,00 5
2+ 303 indywid. 5 14,00 5
8. |2+ 305,7 1| publiczny | 40 | 24,0 | 2,0 35 90,00
9. |2+ 326,4 1| indywid. | 50 [ 3,0 2,0 5 14,00 5
10. | 2+ 3283 indywid. 2,0 30,0 10 14,00 8,00
11. | 2+ 343 indywid. 2,0 26,0 4 14,00 10,00
12. | 2+ 379,4 1| indywid. 5 14,00 5
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dr. 108806
13. | 0+ 314 indywid. | 50 | 15,0 [ 3,0 50,0 12 14,00 10,00
14. 1 0+ 373.,4 publiczny 25,0 12 25,00
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